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Grade 7 Science 
Unit B Plants for Food and Fibre Pre-Test
1. Which gas is given off during photosynthesis?

a. water

b. oxygen

c. nitrogen

d. carbon dioxide
2. Which of the following processes causes water to move up a plant?

a. osmosis

b. transpiration

c. respiration

d. A and B

3. The following describes the difference between a carrot and a lettuce plant. Which of the following descriptions is true?
a. A carrot has a taproot and a lettuce plant has a fibrous root system.

b. Carrots take in water through osmosis and lettuce plants take in water through transpiration.
c. Carrots store calcium in their roots. Lettuce plants store calcium in their leaves. 

d. Lettuce is a fungus and a carrot is a plant.
4. Which of the following is NOT a function of stems?

a. osmosis
b. support

c. transportation of nutrients

d. storage

5. What is a function of roots?

a. To anchor the plant in the ground. 

b. To store food for the plant.
c. To release excess water from the plant.

d. A and B.

6. When do guard cells swell to open the stomata?

a. When there is lots of water to slow the gas exchange needed for photosynthesis.

b. When water is scarce to slow the gas exchange needed for photosynthesis.

c. When there is lots of water to increase the gas exchange needed for photosynthesis.

When water is scarce to increase the gas exchange needed for photosynthesis.

d. Use the following information for the next question.

This is a diagram of a plant and its roots.
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7. This plant is best adapted to which of the following conditions?

a. Areas where water is not abundant.

b. Areas where water is abundant or close to the surface.

c. Areas with clay soil.

d. Areas where it is cold and dry.

8. Which of the following does NOT belong in this list associated with leaves?

a. stomata

b. guard cells

c. osmosis

d. transpiration

9. Which part of the plant is responsible for absorbing water?

a. roots

b. stems

c. stigma
d. flowers

10. Like animals, plants have adaptations that help them grow and survive in different environments. Arif wants to create a desert environment in an indoor garden space. Which of the following plant adaptations do NOT belong in his desert garden?
a. a leaf shape that reduces evaporation 
b. a stem that carries out photosynthesis 
c. roots exposed to the air 
d. leaves have a heavy wax coating 

11. What is the main function of xylem and phloem? 
a. storage 
b. transport
c. structural
d. reproductive

12. Choose the list of processes that best corresponds with the list "roots, cones, leaves", respectively.

a. absorbs water, photosynthesis, reproduction

b. absorbs minerals, reproduction, photosynthesis

c. respiration, reproduction, transpiration

d. osmosis, reproduction, pollination

13. Bill wanted to see if one apple tree could produce many different varieties of apples. Which of the following technologies is most appropriate for this task?

a. selective breeding

b. genetic modification

c. grafting

d. hydroponics

14. Libby took a cutting from a plant and put it into moist potting soil. She then put a plastic bag over the pot. Why did she cover her cutting with a plastic bag?
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a. To control carbon dioxide levels.

b. To control the amount of sunlight.

c. To reduce loss of moisture.

d. To control oxygen levels.

15. Which of the following is the part of the plant that attracts insects and other animals to help with pollination?

a. roots

b. stems

c. leaves

d. flowers

16. Which of these functions is the stem usually NOT responsible for?
a. Transport
b. Photosynthesis
c. Support
d. Storage
Use the following information for the next question.

In science class one day, Mr. Brown cut three pieces of leafy stem off of a plant.

I.
One was put in water.

II.
One was put in soil.

III.
One was put in a hormone solution

17. What type of asexual reproduction was investigated in this class?

a. cuttings

b. grafting

c. layering

d. all of the above

18. Sperm from the pollen of a wheat plant fertilized an egg in the same wheat plant. This is an example of what process?

a. self-pollination

b. cross-pollination

c. artificial pollination

d. germination

19. Bees feed on nectar produced by a plant. In doing so, which process do they help the plant with?
a. transpiration
b. cross-pollination

c. germination
d. all of the above

20. Seeds may be best stored for long time periods if they are kept under which conditions?

a. warm and moist

b. warm and dry

c. cool and moist

d. cool and dry

21. What is the part of the seed that is a tiny new plant?

a. cotyledon

b. embryo

c. ovule

seed coat

d. Use the following scenario to answer the next 2 questions
The following are the samples from a germination experiment done over two weeks in Mr. Brown's science class: 

	Sample
	Growth (cm)
	Temperature
	Environment

	1 
	1.0
	20° C
	moist topsoil

	2
	1.3
	20° C
	moist toilet paper

	3
	1.5
	20° C
	moist paper towel

	4
	0.2
	20° C
	dry paper towel


22. What is the manipulated variable in the experiment? 

a. temperature

b. growth
c. environment

d. sunlight
23. Which sample will likely have the lowest percentage of germinated seeds? 

a. Sample 1

b. Sample 2

c. Sample 3

d. Sample 4

24. The development of a seed into a new plant is called:

a. germination

b. fertilization

c. dispersal

d. pollination
25. Where are plant seeds formed? 
a. stigma 
b. pollen tube 
c. pistil 
d. ovary 

26. How is moisture lost from the soil; choose the most complete answer.

a. evaporation and runoff

b. sublimation and respiration

c. salinization and weathering

d. irrigation and osmosis

27. Which of the following is responsible for providing food for the plant embryo?
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a. seed coat
b. embryo
c. fertilizer
d. cotyledon
Use the following information for the next question.

Amy pulled a root out of her garden.
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In a book she found a classification system used by plant scientists to group root types.
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28. In which group does Amy's root belong?

a. 1

b. 2

c. 3

d. This root was not found in this key. 

29. Bethany has joined a forest management team for the summer. Which of the following would NOT be part of forest management work? 

a. Watering large areas of regrowth
b. Fertilization of young trees

c. Selective harvesting

d. Controlling fires

30. Which of the following are NOT key decomposers in the soil? 

a. wasp larvae

b. bacteria

c. fungi

d. earthworms

31. What would healthy soil contain?

a. Water, air, parent and inorganic matter, rocks
b. Organic matter and water
c. Parent and organic matter, water and air
d. Air, inorganic and organic matter
32. Which of the following statements is NOT TRUE?

a. Soil is a community of living things.

b. Bacteria, fungi, and earthworms help breakdown organic matter into humus.

c. Gophers help the soil community by digging holes in it.

d. Removing insects from the soil has no effect on the rest of the soil community.

33. Soil is a mixture of weathered rock and minerals, but what Biotic (living) factors are found in soil?

a. Air 
b. Bacteria
c. Water
d. Humus 

34. Worms are an important part of the soil ecosystem.  What is something that worms DO NOT do?
a. Use up excess nutrients
b. Grind and mix soil
c. Produce mucus that helps soil stick together
d. Bring up nutrients from lower levels of soil

Use the following graph for the next question.
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35. According to the graph, what is the relationship between fertilizer amount and yield ?  ( Choose the best answer )  
a. More fertilizer means better yields.

b. Less fertilizer means better yields.

c. There is no relationship between fertilizer use and crop yields.

d. Fertilizer can increase yields but only up to a certain point.
36. Which of the following can slow soil erosion?

a. growing trees

b. cutting trees from the middle of fields

c. plowing at least three times a year

d. farming on steeper slopes

37. The uppermost horizon in a soil profile has more _______ than the other horizons have.

a. humus

b. sediment

c. mineral

d. rock

38. Which of the following does NOT describe a problem with pests?

a. Insects dine on plant parts.

b. Weeds steal moisture, nutrients, space, or light from the crops.

c. Microscopic actinomycetes (bacteria) decompose plants.

d. Fungi cause infections in plants.

39. Find the match for these pests (in order): weed, fungus, insect.

a. spreads disease, eats crop, robs from the crop

b. robs from the crop, spreads disease, eats the crop

c. robs from the crop, eats the crop, spreads disease

d. eats the crop, spreads disease, robs from the crop

Use the following graph for the next question.
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The graph shows the relationship between the number of Fungi and the amount of humus in a cubic meter of soil.

40. According to the graph, which of the following statements is correct?

a. The number of fungi doesn’t affect the amount of humus.

b. The number of fungi increases as the amount of humus decreases.

c. The number of fungi decreases as the amount of humus increases.

d. The number of fungi increases as the amount of humus increases.

41. James decides he must spray an area for grasshoppers on a regular basis. The given chart shows a food chain that applies to this particular area. Which of the species in this food chain will show the greatest bioaccumulation of pesticides?
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a. hawk

b. rocky mountain bluebird

c. grasshopper

d. brome grass

42. When settlers first arrived in North America from Europe, there were no starlings (a bird that looks something like a blackbird) in Canada. By 1950 there were millions of starlings causing huge problems for farmers by eating seeds in the fields. The starlings are an example of

a. a pest

b. an introduced species

c. a resistant species

d. both a and b 
Use the following information for the next question.
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43. Which of the following correctly describes the relationship shown in the graphs provided? 

a. Pesticides are effective in controlling insect pest populations.

b. Pests are not affected by pesticides.

c. Pests are less affected by chemical pesticide than they used to be.

d. Fewer chemical controls are needed now than in the past.

Use the following information for the next question

Pesticide chemicals are sprayed on a farmer’s potato crop to kill potato beetles. Two hours later a rainstorm washes some of the chemical into the soil of the field. Some of the rainwater runs off and collects in a slough at the edge of the field.

44. In this scenario, the word “residue’ describes

a. the original pesticide chemical as it is sprayed on the crop.

b. the dead potato beetles.

c. the pesticide that is washed off by rain to be stored in the soil.

d. All of the above

45.  Sally uses lady bugs to get rid of the aphids that are living in her plant.  This strategy to control pests is an example of
a. harming non-target organisms.

b. dealing with resistant species.

c. bioaccumulation.

d. a biological control.
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Short Answer

1. Soil residues from insecticides (pesticides that kill insect pests) pose a problem to many organisms in the air or on the surface of the ground. What is one problem that may arise from insecticides becoming soil residue? (1)

______________________________________________________________

______________________________________________________________

2. It is generally thought that selective logging is a more environmentally sustainable approach to forestry than clear-cutting. 

a. What are 2 reasons why this might be true? (2)

______________________________________________________________

______________________________________________________________

b. If this is true, why do we still clear-cut forests? Give 2 advantages of clear-cutting. (2 )

______________________________________________________________

______________________________________________________________

3. Why is bioaccumulation a greater concern to people who eat meat than to those who do not eat meat? (1)

_________________________________________________________________

_________________________________________________________________

4. Why do desert cacti have needles instead of leaves? (1)
_________________________________________________________________

5. You have been asked to conduct an experiment comparing the number of earthworms found in soil taken from the following locations: prairie meadow, farmer's field, and abandoned used car lot. (2)

a. What is the manipulated variable? ________________________________

b. What is the responding variable?  ________________________________
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